Conservation and Society 15(1): 59-73, 2017

Article

Attitudes Towards Forest Elephant Conservation Around a Protected Area in Northern Congo

Félicien Nsonsi^{a,b}, Jean-Claude Heymans^a, Jean Diamouangana^b, and Thomas Breuer^{c,#}

^aEcole Régional Poste Universitaire Aménagement et Gestion Intégré des Forêts et Territoire Tropicaux (ERAIFT), University of Kinshasa, Democratic Republic of Congo

^bGroupement pour l'Etude et la Conservation de la Biodiversité pour le Développement, Brazzaville, Republic of Congo

Clobal Conservation Program, Wildlife Conservation Society, New York, USA

*Corresponding author. E-mail: tbreuer@wcs.org

Abstract

An assessment of local attitudes towards conservation can guide wildlife managers in the effective application of measurements to improve these perceptions. Here we conducted a quantitative questionnaire survey around a protected area in northern Congo surveying 314 households living in four villages around the Nouabalé-Ndoki National Park. We investigated the impact of the benefits of a conservation project (led by an international non-governmental organisation), the experience with human-elephant conflict and the respondents' socio-economic profile on local people's attitudes towards forest elephant conservation. Using multivariate analysis, we found overall positive attitudes towards elephant conservation with more positive answers in the village where a conservation project is based. Furthermore, people employed in the conservation project stated more positive attitudes compared to logging company employees famers, natural resource users and people conducting other jobs. Experience of human elephant conflict negatively impacted people's perceptions. Socio-economic variables, such as ethnic group, education level or salary category had relatively little impact on people's responses. Qualitative statements largely supported the questionnaire results. We discuss our results in the light of the limits of attitude surveys and suggest further investigations to identify the activities needed to foster positive attitudes for elephant conservation in all villages around the Nouabalé-Ndoki National Park in partnership with the logging company.

Keywords: Attitudes, Congo, employment, FSC certification, human-elephant conflict, logging concession, protected area, rural livelihoods

INTRODUCTION

Tropical protected areas (PAs) and their buffer zones are increasingly becoming threatened due to anthropogenic pressures (Terborgh et al. 2002; Laurance and Peres 2006; Laurance et al. 2012; Tranquilli et al. 2014). Outside PAs,

Access this article online				
Quick Response Code:				
国語語》:: :::::::::::::::::::::::::::::::::	Website: www.conservationandsociety.org			
	DOI: 10.4103/0972-4923.201394			

wide-ranging terrestrial mammals often come into conflict with people, negatively impacting their livelihoods and creating hostility against wildlife conservation (Woodroffe and Ginsberg 1998; Woodroffe et al. 2005; Treves et al. 2006). In sub-Saharan Africa, crop raiding is considered the largest negative impact of wildlife (Naughton-Treves 1997; De Boer and Baquete 1998; Gillingham and Lee 1999; Webber et al. 2007; Hartter et al. 2011). When people's livelihoods are put under risk, support for wildlife conservation and nearby PAs is often compromised (Naughton-Treves 2001; Sitati et al. 2005; West et al. 2006; Parker et al. 2007). However, support from communities living in proximity of PAs is crucial for the success of conservation objectives (Hackel 1999; Treves et al. 2006; Adams and Hutton 2007).

Copyright: © Nsonsi et al. 2016. This is an open access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use and distribution of the article, provided the original work is cited. Published by Wolters Kluwer - Medknow, Mumbai | Managed by the Ashoka Trust for Research in Ecology and the Environment (ATREE), Bangalore. For reprints contact: reprints@medknow.com

Due to their wide-ranging behaviour, African elephants Loxodonta spp. regularly come into conflict with people (Naughton-Treves 1997; Hill 2004). Human-elephant conflict (HEC) is a widespread problem and a well-studied topic in the management of the African savannah elephant Loxodonta africana (Hoare 2012, 2015). Crop raiding by elephants can severely impact local livelihoods and additionally, causes increased labour costs, heightened levels of stress and creates fear (Lee and Graham 2006; Walker 2012). When elephants raid crops, they may destroy an entire field leaving long-lasting negative attitudes (Nchanji and Lawson 1998). HEC can result in the abandonment of fields and leads to less tolerance for elephants (Hill 2004; Gadd 2005; Parker et al. 2007). Community members use their voice to complain about other land and resource use issues and the debate can become highly political and in some cases to the killing of elephants (Tchamba 1995; Lee and Graham 2006).

HEC involving Forest elephants Loxodonta cyclotis has been well studied in West Africa (Boafo et al. 2004; Gunn et al. 2014; Barnes et al. 2015) but remains far less studied in Central Africa (Barnes 1996). Forest elephants in Central Africa have undergone dramatic declines due to poaching (Maisels et al. 2013). Their habitat is also undergoing rapid land use conversions due to palm oil, mining, and infrastructure development (Edwards et al. 2014; Wich et al. 2014; Laurance et al. 2015). These anthropogenic threats likely compress forest elephants into PAs and areas where they feel safe (Yackulic et al. 2011) potentially leading to heightened HEC (Breuer et al. 2016). In northern Congo, forest elephants still roam freely in relatively intact forest blocks of PAs and sustainably managed logging concessions, albeit they have also seen substantial declines due to poaching (Maisels et al. 2013). Forest elephant numbers in northern Congo are stable within the Nouabalé-Ndoki National Park (NNNP) but have been declining outside of NNNP (Maisels et al. 2012). Estimates of forest elephant numbers outside NNNP are shown in Table 1. While the area is still relatively sparsely populated by people, it has seen anthropogenic changes due to increased infrastructure development (notably roads, logging camps, and agricultural activities) associated with the expansion of logging road networks and the subsequent encroachment by people (Laporte et al. 2007; Kleinschroth et al. 2015) that are likely to continue to increase in the near future. Over the last two decades, the communities in northern Congo have undergone significant socio-economic transformations due to expansion of commercial forestry and immigration from urban centres and neighbouring countries undergoing civil unrest resulting in dramatic changes of local economies and community politics (Poulsen et al. 2009; Clark and Poulsen 2012; Riddell 2013). This is likely to change traditional attitudes towards wildlife conservation, a subject that has rarely been investigated in Central Africa.

Understanding local people's attitudes can help to inform PA managers whether positive or negative opinions towards wildlife and PAs exists and which factors influence them might (Naughton-Treves and Treves 2005; Fishbein and Ajzen 2010; St. John et al. 2010; Ajzen 2012; Bennett 2016). Therefore, a rigorous assessment of attitudes towards conservation and the underlying factors building these attitudes helps to assess the success of existing and guiding new conservation policies (Infield 1988; Gillingham and Lee 1999; Holmes 2003; Anthony 2007; Dickman 2010; Hartter and Goldman 2011; St. John et al. 2013).

Local people's attitudes are largely shaped by the impacts, both positive and negative, of having wildlife close by, and these vary among social and economic groups (Newmark et al. 1993; Fiallo and Jacobson 1995; Holmes 2003; Anthony 2007; Shibia 2010; Sodhi et al. 2010; Hartter and Goldman 2011; Snyman 2014). Negative attitudes might be particularly prominent due to the costs of natural resource use restrictions within the PA and due to HEC (Parry and Campbell 1992; De Boer and Baquete 1998; Gillingham and Lee 1999; Gadd 2005; Anthony 2007; Kideghesho et al. 2007; Hartter and Goldman 2011; Snyman 2014). Under these circumstances, poorer households and those who largely depend on agriculture are expected to have more negative attitudes as they are less able to cope with HEC. Unequal distribution of PA benefits, less regular visits by conservation project staff, and potentially undelivered promises might further negatively affect attitudes (Gadd 2005).

Often the negative impacts are compensated by conservation projects through their contribution to rural development, which can improve local attitudes and behaviour in support of PAs and wildlife conservation (Heinen 1996). Favourable attitudes might also occur due to access to natural resources, ecosystem services (e.g., water quality, climate maintenance), but are largely shaped by financial benefits such as employment, tourism revenue, or development initiatives in the community, such as health and education services (Infield 1988; Lewis et al. 1990; Newmark et al. 1993; Sodhi et al. 2010; Hartter and Goldman 2011; Brooks et al. 2013; Hartter et al. 2014; Snyman 2014). For example, preferential employment of local people in a conservation project or perceiving the advantages of a nearby conservation project is likely to influence attitudes at the community level if a high proportion of households in the village/community can access those benefits (Infield 1988; Snyman 2014).

Social and other economic factors, such as gender, ethnic group, and the level of education, occupation, or wealth are likely to influence attitudes towards PAs and wildlife, as these factors are linked closely to how people experience conservation impacts. However, given the complex nature of rural societies these links often vary between sites as there are differences in social norms in and between communities as well as differing benefits and risks (Infield 1988; Hill 1998; Gadd 2005; Allendorf et al. 2006; Anthony 2007; Kideghesho et al. 2007; Browne-Nuñez et al. 2013; Hartter et al. 2014; Snyman 2014).

In this study, we conducted a questionnaire survey to understand the factors shaping attitudes towards forest elephants in northern Congo as a first step to orientate management of HEC, and to test, if the presence of a long-term

[elephant numbers are from Stokes et al. 2010 and Maisels et al. 2012)							
Name of village	Bomassa	Makao	Kabo	Loundoungou				
Size of human population	663	744	2608	> 1000				
Location	Kabo logging concession, 30 km from Nouabalé-Ndoki National Park; 1 km from other Sangha Trinational parks	Ipendja logging concession, 40 km from Nouabalé-Ndoki National Park	Kabo concession, 50 km from Nouabalé-Ndoki National Park; 1 km from other Sangha Trinational parks	Loundoungou-Toukoulaka logging concession, 20 km from Nouabalé-Ndoki National Park				
History	Bushmeat and ivory trading settlement in the early twentieth century	Hunter-gatherer and agriculture settlement; during colonial times located in Nouabalé-Ndoki National Park	Small fishing village grown in size due logging operation and then closure of saw mill	Logging camp created in 2004 in the middle of the forest and rapid population increase due to logging company employees, their relatives and local hunters				
Type of village	Conservation village/ hunting activities	Conservation village/ nearby logging town/ hunting activities	Logging activities/hunting town/conservation project of NNNP buffer zone	Logging camp/hunting activities				
Benefits from conservation project	Preferential employment, school bursaries, health services, all-year hunting permitted	Preferential employment, health services	Preferential employment, some social services, alternative protein projects in the past	None				
Typical employment	Conservation project, natural resource extraction (mainly hunting and fishing), self employed	Logging company, conservation project, nearby logging company resource extraction, self-employed, agriculture	Logging company, conservation project, resource extraction, self-employed, agriculture	Logging company, resource extraction, self-employed, agriculture				
Agricultural activity	Almost absent since return of elephants to village in the mid-90s	Medium	Little to medium	Medium				
Forest elephant population size estimate (survey from 2006 and 2010/2011)	2084/1692 (Kabo logging concession)	No estimate available, but elephant numbers in Mokabi-Dzanga concession assumed to be low	2084/1692 (Kabo logging concession)	1652/291 (Loundoungou logging concession)				
Degree of human-elephant conflict (HEC)	High	Medium	Medium					
Number of households interviewed	96	52	102	64				
Proportion of households interviewed	73%	47%	17%	54%				

 Table 1

 Socio-economic details of villages investigated during the current study around Nouabalé-Ndoki National Park, northern Congo (estimates of forest elephant numbers are from Stokes et al. 2010 and Maisels et al. 2012)

conservation project has fostered positive attitudes. The aims of our study were to understand the attitudes of local people living around NNNP in northern Congo, and how the benefits and costs of having wildlife and a conservation project nearby might shape these attitudes. NNNP is a large tropical rainforest PA, surrounded by a few villages, that has received substantial long-term conservation support over the last 25 years. The largely intact forest surrounding NNNP contains only a few villages, and are a prime habitat for forest elephants which range largely undisturbed through the landscape. The forest also provides an important livelihood and socio-cultural heritage for BaAka hunter-gatherers. NNNP is bordered by sustainably managed logging concessions which hold timber certification (Forest Steward Council (FSC)) and include biodiversity conservation in their agenda (mostly through land use planning

and wildlife management) (Clark and Poulsen 2012). While elephant conservation is in common of both, PA and logging concessions as their killing is strictly prohibited, the different households and communities do not receive the same benefits from conservation (such as revenue sharing from tourism, infrastructure development, education, and health services). The conservation project and benefits are only present in two of the principle four villages ('conservation village') around NNNP, although the other villages/settlements receive benefits from the logging companies. However, the costs of HEC might be considered similar due to the free-ranging nature of forest elephants in the area. With many people employed by either conservation project or logging companies and substantial differences in benefits between villages, we paid particular attention to whether or not the respondents worked in the

conservation project or lived in the conservation village, and its link to their conservation attitudes. Thus, we predicted to find more positive attitudes in the conservation villages and in relation to employment in the conservation project. Similarly the costs due to HEC might differ due to localised high elephant abundance and compression due to poaching in other zones (Breuer et al. 2016), and we predicted that local communities experiencing more costs (heightened HEC) are less likely to support forest elephants. Likewise, people, whose livelihoods are more dependent on agriculture, are expected to have more negative attitudes because of the greater risks and potential losses they might face.

MATERIALS AND METHODS

Study Area

NNNP, created in 1993 and extended in size in 2012, is a part of the larger Sangha-Trinational world heritage site, that is known for its pristine rainforest and large populations of forest elephants and great apes (Figure 1). It is co-managed by the Ministry of Forest Economy and Sustainable Development and the Wildlife Conservation Society (WCS) with a particular emphasis on local participation and co-management (Ruggiero 1998). Recently a public-private partnership agreement between the two partners has been signed that has given the PA management authority to WCS (Hatchwell 2014). Additionally a partnership between the Ministry, WCS, and a logging company ensures the management of several logging concessions surrounding NNNP where reduced impact logging, law enforcement, and revenue sharing are practised (Clark and Poulsen 2012).

Study population

We chose the four closest settlements around NNNP (within 50 km of NNNP and with at least 100 inhabitants) (see Figure 1) to study the attitudes of the resident people towards PAs and elephants. The four study villages varied in their involvement in conservation and logging activities: 1) Bomassa, a conservation-focussed village; 2) Makao, a conservation-focussed village but with less employment opportunities and a nearby logging company; 3) Kabo, originally a logging town now focussed on agriculture and presence of a conservation project to manage the buffer zone of NNNP; and 4) Loundoungou which is a logging camp installed in the middle of the rain forest (summarised in Table 1). The settlements contain a mixture of people of varying origin and socio-economic background, with various traditional groups of Bambenjele and Bangombe Aka hunter-gatherers, and Bantu-speaking farmer-fisher, and immigrants working for the logging company, conservation project or in other businesses (Tables 1 and 2). Agricultural activities are expanding with the principal crops being cassava Manhiot esculenta, maize



Figure 1

Location of study villages (Bomassa, Makao, Kabo, Loundoungou) around Nouabalé-Ndoki National Park (NNNP) in northern Congo: The Sangha Trinational world heritage site includes NNNP and the national parks in Cameroon (Lobéké National Park) and the Dzanga-Ndoki National Park in the Central African Republic. UFA indicates logging concession (map by Patrick Boundja / WCS)

Socio-aemographic context (100, einnic group,) of respondents restaing in the four afferent staay vitages around MNNF					
	Bomassa (n=96 with 67	Makao (n=52 with	Kabo (n=102 with	Loundoungou (n=64	
	responses for the second	39 responses for the	83 responses for the	with 53 responses for	
	job question)	second job question)	second job question)	the second job question)	
# employed in conservation as	89/2	16/1	20/1	0/0	
1 st /2 nd job					
# working in natural resource	7/47	2/9	21/33	0/6	
use as 1 st /2 nd job					
# employed in logging as 1 st /2 nd	0/0	9/0	12/0	61/0	
job					
# working in farming as 1 st /2 nd	0/2	15/22	26/25	3/41	
job					
# working in other business as	0/16	10/7	23/24	0/6	
1 st /2 nd job					
# Aka/Bantu	47/49	6/46	38/64	5/59	
# no/primary/secondary/higher	17/42/27/10	7/22/22/1	25/36/36/5	0/10/52/2	
education					
# income category 1/2/3	0/77/19	1/40/11	26/67/9	0/35/29	
# experienced HEC	66	41	55	47	

Table 2	
Socio-demographic context (iob, ethnic group.) of respondents residing in the four different study villages around NN	NP

Zea mays, bananas Musa spp., fruiting trees, vegetables, and occasionally pineapple Ananas comosus.

Bomassa is considered a conservation village that largely benefits from the employment opportunities at the nearby NNNP headquarters (see Table 1; Ruggiero 1998; Eves and Ruggiero 2000). Before the establishment of the NNNP headquarters in Bomassa in 1991, elephants were absent from the village as ivory poaching was common. Agricultural activities and fishing also occurred for subsistence with almost every household having a small farm; manioc field sizes were related to household wealth (Eves 1995). Crop raiding was uncommon and the few subsistence farmers had no complaints. However with increased protection, elephants became accustomed to the village and HEC increased (Madzou 1999; Ongognongo et al. 2006). Today people living in Bomassa have largely given up agriculture and rely on imported cassava that is subsidised by the conservation project (Dos Santos and Breuer 2012). Wildlife populations around the village are largely intact (Maisels et al. 2012) and nearby poaching events are relatively rare.

Makao, the second base of NNNP is also considered a conservation village, but compared to Bomassa receives fewer employment opportunities. With the installation of a logging camp (Thanry-Congo; around 2,500 people) just 5 km from Makao and the road and bridge construction in 2006 to connect Makao with the Pokola logging town, dramatic changes in livelihood activities occurred. Many Aka moved to the nearby logging town as gun hunters, collectors of non-timber forest products, or helpers on farms for new company employees (Riddell 2013). An overall commercialisation of bushmeat as well as dramatic increase in ivory poaching occurred in the following years, leading to significant drops in wildlife numbers, including elephants in the area (Stokes et al. 2010; Maisels et al. 2012). HEC occurs but due to the common poaching practices, elephants appear to largely avoid fields close to the village.

The Kabo town was originally dominated by Bantu households with a small Aka settlement nearby (Eves 1995). The dynamics of the human population in Kabo were mainly determined by the operation of logging activities that started in the 1960s. The small village has grown substantially due to timber extraction, resulting in the dominance of immigrants in regards to wealth, bushmeat consumption, and trade (Poulsen et al. 2009). Furthermore a conservation project to ensure the sustainable use of the buffer zone around NNNP has been installed in Kabo in 1999 providing employment opportunities (Elkan et al. 2006; Clark and Poulsen 2012). The logging company provides favourable living conditions, such as brick houses, access to clean water and electricity, access to the hospital and pharmacy, as well as free transportation to Pokola. In 2009, the logging company closed the saw mill in Kabo, resulting in the redundancy of more than 650 workers. Remaining inhabitants conduct a diversity of activities, including agriculture. HEC appears to be increasing with the return of elephants due to improved protection.

Loundoungou logging camp was constructed in 2004 in the south-east of NNNP in the middle of a pristine rain forest. A saw mill has subsequently been constructed and the logging company workers and their families quickly attracted local hunters and the total population quickly reached more than 1,000. The same advantages as seen in Kabo occur in Loundoungou. Agriculture is largely practised by family members of logging company employees outside the workers camp in the rain forest. Unsustainable hunting practices have resulted in dramatic decline of ungulates in the Loundoungou logging concessions. HEC is considered low as elephant density in the area is low and illegal human activities are common (Maisels et al. 2012).

Survey methods

We interviewed 314 people residing in the four different villages as part of investigations into the impact of human-wildlife conflict. Here we present the results of the attitude survey. The first author lived for almost two years in Bomassa and made various excursions to the other villages to became familiar

with the local livelihoods and to establish a good relationship with residents to reduce response bias (e.g., increase truthful responses) (e.g., Browne-Nuňez and Jonker 2008). Interviews were performed by the first author, along with two assistants who were trained in interview methodology prior to starting the study. The assistants were familiar with the households in various villages as they have either lived there for more than a year or worked for the conservation project. We sought free, prior, and informed consents with all participants in the survey. One day prior to the survey we approached the village chief and elders for permission to conduct the interviews. We used existing demographic data from our long-term annual census to ensure we sampled at least 10% of the households in each village. Whenever possible, we selected households randomly and approached when the household head was likely to be at home. We walked through the village and approached one member of the household, mostly commonly the male household owner, and asked whether he/she was willing to participate in the survey. If the household head was not available, the spouse or any member of the household older than 18 years was permitted to take part in the survey. Occasionally, no one was present at the domicile so we tried to meet the person directly on his/her way back to home from work, field, or hunting trip without disturbing his/her actual activity, or passed by the domicile during the following day. Interviews were carried out between February and December 2014, between 07:00-18:00, took around 20-45 minutes to complete, and were held in local languages. We used a semi-structured interview which also allowed us to collect supporting qualitative information to the responses. The questionnaire included seven close-ended questions about attitudes towards elephants and was complemented by socioeconomic information of the respondent.

Data analysis

We performed a multivariate analysis to examine the effect of various socio-economic co-variables and their interactions on the responses of the questionnaire. Specifically we ran generalised linear models (GLM) to see which variables were most important in determining responses to our key questions about attitudes to elephants (details of explanatory variables in Table 3). Income and education were ordinal predictors (treated as linear for analyses) while the other predictors were binary. Due to high-collinearity (as revealed by variance inflation factor) between village and job we excluded village as co-variable in the GLM, but also present effect of village separately for each question. Additionally we included some interactions while other interactions could not be included because of multi-collinearity. The response variables to the key questions indicated whether respondents answered yes=1 or no=0, so each model was fitted with a binomial error structure and logit link. All models were run in R (R Development Core Team 2014). We obtained the best fit GLM using Akaike's information criteria (AICc) (Burnham et al. 2011) by applying the dredge function in the MuMin package (Barton 2015) and present the top selected sub-models with a threshold criterion of Δ AICc <2 as well as relative importance (>50%) of the explanatory model using the importance function in the MuMin package. For the best model we provide significance of co-variables and present estimate, standard deviation, Wald statistic (*z*-value), and variable significance (*p*-value) (for further details see Burnham et al. 2011 and Table 4).

RESULTS

Survey results

The majority of the 314 respondents were male (75%) and ethnically Bantu (69%). Primary employment differed substantially between the villages with conservation dominating in Bomassa (93%) and Makao (31%), farming (25%) and other (trading, transport, food, and alcohol production) (23%) activities in Kabo and logging company workers were dominant in Loundoungou (95%). The majority of workers engaged in the conservation project (42%), conducting farming activities (43%), and natural resource users (40%) had primary school education, whereas people working for the logging company (77%) and conducting other activities (61%) had primarily secondary school education, whereas above secondary level education was rare. 77% (n=242) of respondents had a secondary livelihood. The most common secondary livelihood was natural resource use (39%; n=95), followed by farming (37%; n=90), other activities (22%; n=53)and working in a conservation project (2%; n=4). For those who primarily worked in a conservation project, their most stated secondary activity was natural resource use (61%; n=58); those working for the logging company conducted farming as their main secondary activity (75%; n=47); farmers often conducted other activities as a second job (58%; n=19). In Bomassa and Kabo, the majority of households used natural resources as a second income, whereas farming was the main secondary job in Makao and Loundoungou (Table 2). 41% (n=129) of people stated that they practised agriculture to some extent. Around 70% (n=219) had an income between XAF 50 and XAF 100,000, whereas low salary income was stated in 9% (n=27) of the cases, and 21% (n=68) had Income of more than XAF 100,000 or approximately USD 190 (average income in the country approximately XAF 50,000). Experience of HEC was high (67%; n=209) and differed between villages (highest in Loundoungou and lowest in Kabo), and between job with 100% of farmers having conflict, followed by logging company employers (78%), and lowest for other job category (49%).

Attitudes towards elephants and protected areas (PAs)

We found substantial differences between villages, job, and whether or not people experienced HEC, and to some extend ethnic group, income, and education but explanatory variables in best models varied substantially between questions (summarised in Tables 3, 4, 5, and 6).

Question 1: Are you afraid of elephants? The majority of people (74%) stated they were afraid of elephants, particularly

Explanatory variable	Details of variable	Are you afraid of elephants? Vec/No	Do you like to see the pictures of elephants, without feeling the desire to see them in the wild? Yee/No	Do you like to have some information on the conservation of elephants? Vec/No	Are you happy when you see the photos of a killed elephant? Ves/No	Are you happy when they arrest someone that killed an elephant? Vec/No	Do you think alone the conservationists are sensitive to the elephants and not the Congolese people? Ves/No	Do you think that elephants have the right to live in your area? Yes/ No
Village	Romassa	83/13	14/82	90/6	12/82	80/16	24/72	90/4
, mage	Makao	32/20	16/36	40/12	24/78	52/44	30/21	44/8
	Kabo	72/30	28/74	58/44	8/44	42/10	47/55	89/11
	Loundoungou	46/18	26/38	47/17	12/52	38/26	42/22	57/4
Job	Conservation project	94/31	18/107	114/11	14/111	102/23	35/90	117/5
	Farming	32/12	14/30	23/21	13/31	23/15	22/21	34/10
	Logging company	61/21	31/51	60/22	13/69	53/29	52/30	70/9
	Natural resource user	21/9	6/24	18/12	5/25	16/14	17/13	29/1
	Other	25/8	15/16	20/13	11/22	18/15	17/16	30/2
Ethnic group	Aka	72/24	9/87	75/21	13/83	68/28	37/59	88/7
	Bantu	161/57	75/143	160/58	43/175	144/68	106/111	192/20
Education	None	37/12	6/43	32/17	11/38	29/20	18/30	43/6
	Primary school	78/32	20/90	89/21	16/94	83/25	37/73	99/9
	Secondary school	106/31	52/85	98/39	29/108	85/48	79/58	120/12
	University	12/6	6/12	16/2	0/18	15/3	9/9	18/0
Income	< 50,000 XAF-1 US\$=526 XAF: (15 December 2014: http://www.xe.com)	17/10	5/22	18/9	8/19	13/14	12/15	23/3
	50-100,000 XAF	168/51	60/159	158/61	33/186	152/62	98/120	194/19
	> 100,000 XAF	48/20	19/49	59/9	15/53	47/20	33/35	63/5
Experienced HEC	Yes	160/49	32/73	89/16	12/93	75/30	39/66	94/6
	No	73/32	52/157	146/63	44/165	137/66	104/104	186/21

 Table 3

 Responses to the seven questions in regard to the different explanatory variables

people residing in Bomassa. Bomassa had significantly more yes answers compared to Makao, Kabo, and Loundoungou, likely reflecting more encounters with potentially dangerous elephants in Bomassa (Table 6). Accordingly one respondent in Bomassa stated: "I fear elephants because they can be chasing and killing you". The most important variables were 'experienced HEC' (selected in 72% of models) and 'ethnic group' (52%). The best model included the variables 'experienced HEC' and 'ethnic group' as well as an interaction effect between both (Tables 4 and 5).

Question 2: Do you like to see the pictures of elephants, without feeling the desire to see them in the wild? The majority of respondents (73%) stated that they like to see elephants in the wild, not just in a photo. Again, we found more interest among Bomassa people (Table 6). The variable 'ethnic group' was selected in 96% of models, followed by 'job' (85%), 'experienced HEC' (76%), and 'education' (56%). The best model included the first three variables. In this model, Bantus had significantly less interest to actually see elephants compared to Aka and people in job category farming, logging company, and other also had less interest to see elephants compared to

people working in the conservation project (Tables 4 and 5). Respondents who were not keen to see elephants in the wild made the following statements: "The elephant is an animal, a protein resource and we cannot love them like a human being" (women from Makao). "White people put more importance on elephants than on people that is why I don't want to see elephants" (farmer from Loundoungou). "Did the elephant became a human being or why do you make such comparisons" (worker for logging company in Kabo).

Question 3: Do you like to have some information on the conservation of elephants? The majority of respondents (75%) stated that they would like to have more information on the conservation of elephants. Again, we found people from Bomassa showing more interest compared to the other three villages (Table 6). The highest rankings of relative importance of explanatory variable were for 'job' (100%), 'experienced HEC' (98%), 'income' (88%), and 'education' (58%). In the best model, respondents not working for the conservation project showed less interest to get further information on elephant conservation. People that were experiencing HEC were less interested to get further information, whereas

Sumuru esumation, z-ana P value,	aegrees of freedom (af), togLink, AICC and DAICC of each mod			Ine Dest mo	
Question		di	10gLink	AICC 250.7	ΔΑΙCC
Are you atraid of elephants?	Etnnic group+Experience HEC+Ethnic group* Experience HEC	4	-1/5.81	359.7	0
	Full model	1	-179.27	360.5	0.8
	Experience HEC	2	-178.38	360.8	1.05
	Education+Ethnic group+Experience HEC+Ethnic group* Experience HEC	5	-175.77	361.7	1.98
Do you like to see the pictures of elephants, without feeling the desire to see them in the wild?	Ethnic group+Experienced HEC+Job	7	-162.5	339.4	0
	Ethnic group+Experienced HEC+Job+Education	8	-161.63	339.7	0.37
	Ethnic group+Experienced HEC+Job+Education+Income	9	-160.96	340.5	1.14
	Ethnic group+Experienced HEC+Job+Ethnic group*Experienced HEC	8	-162.07	340.6	1.24
	Ethnic group+Experienced HEC+Job+Income	8	162.129	340.7	1.37
	Ethnic group+Job	6	-164.3	340.9	1.5
	Ethnic group+Job+Education	7	-163.36	341.1	1.71
	Ethnic group+Experienced HEC+Job+Education+Ethnic group*Experienced HEC	9	-161.25	341.1	1.73
	Ethnic group+Job+Education+Income	8	-162.43	341.3	1.97
~					
Do you like to have some information on the conservation of elephants?	Experienced HEC+Income+Education+Job+Education* Experienced HEC	9	-149.44	317.5	0
	Experienced HEC+Income+Job	7	-151.89	318.2	0.68
	Experienced HEC+Income+Education+Job+Ethnic group+Education*Experienced HEC	10	-149.3	319.3	1.85
Are you happy when you see the photos of a killed elephant?	Job+Income+Experienced HEC+Job*Income	11	-131.33	285.5	0
	Job+Income+Experienced HEC+Education+Job*Income	12	-130.51	286	0.51
	Job+Income+Experienced HEC+Education+Ethnic group+Job*Income	13	-129.86	286.9	1.39
	Job+Income+Job*Income	10	-133.29	287.3	1.76
Are you happy when they arrest someone that killed an elephant?	Job	5	-181.91	374	0
	Job+Income	6	-181.43	375.1	1.13
	Job+Education	6	-181.67	375.6	1.6
	Job+Experienced HEC	6	-181.74	375.8	1.75
Do you think alone the conservationists are sensitive to the elephants while the other Congolese people don×t care?	Education+Experienced HEC+Job	7	-196.48	407.3	0
	Education+Experienced HEC+Ethnic group+Job	8	-195.5	407.5	0.14
	Education+Experienced HEC+Job+Income	8	-195.84	408.2	0.83
	Education+Job	6	-198.23	408.7	1.41
	Education+Experienced HEC+Job+Education*Experience HEC	8	-196.16	408.8	1.47
	Education+Ethnic group+Experienced HEC+Job+Income	9	-195.13	408.8	1.52
	Education+Ethnic group+Experienced HEC+Job+Education*Experienced HEC	9	-195.13	408.9	1.53
Do you think that elephants have the right to live in your area?	Job+Education	6	-83.096	178.5	0
	Job	5	-84.334	178.9	0.4
	Job+Income	6	-84.733	179.7	1.27
	Job+Income+Education	7	-82.909	180.2	1.72
	Job+Ethnic group	6	-83 998	180.3	1.8

 Table 4

 Results of general linear model of responses to elephant conservation related to seven questions. Best models are shown in bold with estimate and standard estimation, z-and P value, degrees of freedom (df), logLink, AICc and ΔAICc of each model within ΔAICc <2 of the best model</td>

those with higher income showed more interest. We also found a significant interaction of variables 'education' and 'experienced HEC' indicating that less educated people with more HEC showed less interest to learn more about elephants. Some people stated that it is not important to get further information other said that "Elephants cause a lot of conflict, therefore why should I need more information on them" (farmer from Makao).

10	esuus snown in boiu)			
Question	Variable comparison of best model	Estimate±SE	z	р
Are you afraid of elephants? Best model: Ethnic group+Experience HEC+Ethnic group* Experience HEC		0.486±0.318	1.528	
	Bantu	0.592±0.430	1.377	0.168
	Experienced HEC	1.264±0.498	2.539	0.011
	Bantu*Experienced HEC	-1.319±0.604	-2.184	0.029
Do you like to see the pictures of elephants, without feeling the desire to see them in the wild? Best model: Ethnic group+Experienced HEC+Job		-2.490±0.445	-5.598	<0.001
	Bantu	1.526±0.430	3.546	<0.001
	Farming	0.937±0.446	2.099	0.036
	Logging company	0.977±0.358	2.726	0.006
	Natural resource user	0.936±0.575	1.628	0.104
	Other	1.232±0.448	2.754	0.006
	Experienced HEC	-0.583±0.308	-1.893	0.058
Do you like to have some information on the conservation of elephants? Best model: Experienced HEC+Income+Educatio n+Job+Education*Experienced HEC		2.322±0.860	2.700	
	Farming	-1.857±0.451	-4.115	< 0.001
	Logging company	-1.617±0.438	-3.691	< 0.001
	Natural resource user	-1.801±0.534	-3.371	< 0.001
	Other	-2.029±0.512	-3.963	< 0.001
	Experienced HEC	-2.383±0.776	-3.070	0.002
	Higher Education	-0.653±0.399	-1.638	0.101
	Higher Income	0.823±0.338	2.434	0.015
	Less Education and more HEC	0.941±0.438	2.146	0.032
Are you happy when you see the photos of a killed elephant? Best model: Job+Income+Experienced HEC+Job*Income		-4.296±1.466	-2.930	
	Experienced HEC	0.796±0.419	1.899	0.058
	Higher Income	0.765±0.606	1.262	0.207
	Farming	4.746±2.252	2.107	0.035
	Logging company	-2.402±2.414	-0.995	0.320
	Natural resource user	4.475±2.103	2.128	0.033
	Other	5.408±2.019	2.679	0.007
	Higher income * Farming	-1.817±1.066	-1.705	0.088
	Higher income * Logging company	0.960±0.940	1.021	0.307
	Higher income * Natural resource user	-2.203±1.170	-1.883	0.060
Are you happy when they arrest someone that killed an elephant? Best model: Job	Higher income * Other	-1.948±0.963 1.489±0.231	-2.024 6.453	0.043
*	Farming	-1.062±0.404	-2.627	0.009
	Logging company	-0.887±0.327	-2.715	0.007
	Natural resource user	-1.356±0.433	-3.134	0.002
	Other	-1.307±0.419	-3.120	0.002
Do you think alone the conservationists are sensitive to the elephants while the other Congolese people don×t care? Best model: Education+Experienced HEC+Job		-1.786±0.357	-4.997	
	Higher education	0.385±0.166	2.320	0.020
	Experienced HEC	0.509±0.273	1.860	0.063
	Farming	0.878±0.383	2.293	0.022
	Logging company	1.292±0.315	4.097	< 0.001
	Natural resource user	1.469±0.441	3.334	< 0.001
	Other	0.982±0.413	2.378	0.017
Do you think that elephants have the right to live in your area? Best model: Job+Education		2.635±0.540	4.880	
	Higher education	0 470+0 303	1 549	0.121

 Table 5

 Comparison of variables within the best selected model. Positive estimates indicate a positive association between explanatory variable (s) and response and the z-value the strength of that association and the P value correspond to those z-values in a standard normal distribution (significant results shown in bold)

Contd...

[Downloaded free from http://www.conservationandsociety.org on Wednesday, February 13, 2019, IP: 138.246.2.184]

68 / Nsonsi et al.

Cond				
Question	Variable comparison of best model	Estimate±SE	z	р
	Farming	-1.909±0.585	-3.261	0.001
	Logging company	-1.434±0.632	-2.270	0.023
	Natural resource user	0.411±1.123	0.366	0.714
	Other	-0.632±0.876	-0.722	0.470

T-1-1- 5

Table 6

Result of GLM with a single variable village. Positive estimates indicate a positive association between explanatory variable (s) and response and the z-value the strength of that association and the P value correspond to those z-values in a standard normal distribution (significant results shown in bold)

Question and village	Estimate±SE	z	р
Are you afraid of elephants?	1.854±0.298	6.215	<0.001
Kabo	-0.978±0.369	-2.651	0.008
Loundoungou	-0.916±0.408	-2.246	0.025
Makao	-1.384±0.413	-3.354	<0.001
Do you like to see the pictures of elephants, without feeling the desire to see them in the wild?	-1.768±0.289	-6.113	<0.001
Kabo	0.796±0.365	2.183	0.029
Loundoungou	1.388±0.385	3.604	<0.001
Makao	0.957±0.417	2.294	0.022
Do you like to have some information on the conservation of elephants?	2.708±0.422	6.423	<0.001
Kabo	-2.432±0.467	-5.211	<0.001
Loundoungou	-1.691±0.508	-3.330	<0.001
Makao	-1.504±0.535	-2.812	0.005
Are you happy when you see the photos of a killed elephant?	-1.946±0.309	-6.305	<0.001
Kabo	0.767±0.387	1.983	0.047
Loundoungou	0.480±0.445	1.078	0.281
Makao	0.241±0.493	0.489	0.625
Are you happy when they arrest someone that killed an elephant?	1.609±0.274	5.877	<0.001
Kabo	-1.442±0.342	-4.218	<0.001
Loundoungou	-1.230±0.374	-3.290	0.001
Makao	-0.174±0.446	-0.391	0.696
Do you think alone the conservationists are sensitive to the elephants while the other Congolese neople don't care?	-1.099±0.236	-4.661	<0.001
Kaho	0.941+0.308	3 054	0.002
	1 745+0 353	4 940	<0.002
Makao	1.745±0.333	3 030	<0.001
Do you think that elephants have the right to live in your area?	3 11/1+0 511	6.094	<0.001
Kabo	-1 023+0 603	-1 697	0.000
	-0.457+0.727	-0.628	0.530
Makao	-1 409+0 639	-2.203	0.030
Waxao	-1.+0/±0.039	-2.203	0.020

Question 4: Are you happy when you see the photos of a killed elephant? The majority of respondents (82%) stated that they are not happy when they see a killed elephant, with people from Kabo having move negative attitudes compared to people from Bomassa (Table 6). The explanatory variables with the highest relative importance were 'job' (98%), 'income' (91%), 'experienced HEC' (82%), an interaction of variables 'job' and 'income' (79%) and 'education' (57%). In the best model, respondents with job category 'farming', 'natural resource user' and 'other', had significantly less positive attitudes compared to people employed in the conservation project (Tables 4 and 5). Those respondents that have experienced HEC showed a trend of less positive attitudes compared to those without HEC. We also found a significant interaction of variables 'job' and 'income' indicating that those with higher income working in

the conservation project had more negative attitudes while the opposite was true for the interaction farming and income, natural resource user and income and other and income (Table 5).

Question 5: Are you happy when they arrest someone that killed an elephant? A large proportion of respondents (69%) stated yes, but people from Kabo and Loundoungou had less positive attitudes (Table 6). Only the variable 'job' (99%) had a relative importance in more than 50% of models and only the variable 'job' was included in the best model with all categories having less positive attitudes compared to those respondents working in a conservation project (Tables 4 and 5). Farmers from Loundoungou stated: "If an elephant is killed in the forest the person should be arrested, but if you arrest a farmer who killed an elephant in his field, then this is not right"; "the elephant is just an animal so you can kill it".

Question 6: Do you think alone the conservationists are sensitive to the elephants while the other Congolese people don't care? Only around half of respondents (54%) stated that this is not true. The following variables were of relative importance: 'job' (100%), 'education' (93%), 'experienced HEC' (83%) and 'ethnic group' (50%). In the best model we found people working for the conservation project recognised more often that Congolese also care about conservation whereas respondents with higher education stated the opposite. Frequent replies included: "Many think that the white people who came to protect the animals, such as elephants and gorillas are actually looking for other natural resources such as gold and diamonds" (worker of the conservation project) or: "Local conservation authorities have started to care more about elephants and gorillas than about the local people" (farmer from Kabo and Loundoungou). "Other people get benefits from protecting these animals but not the local population" (various sources).

Question 7: Do you think that elephants have the right to live in your area? Almost all respondents (91%) replied yes, but Makao and to an extend people from Kabo replied no more often. The variable 'job' (94%) was of highest relative importance followed by the variable 'education' (53%). The best model included the variable 'job' and 'education' with farmers and logging company workers stating themselves to be less tolerant of co-existence with elephants compared to workers from the conservation project. Statements included: "We respect the protection of elephants and the park, because they are very important for the dispersal of seeds" (various workers from the conservation project). "Elephants should stay in the protected area and the government should put a fence around these places so that they cannot come out"; or: "The elephants should leave because we made an error to accept the creation of the park; this is the reason why we cannot improve our livelihoods". "Elephants are bad because they disturb the daily life of the population" (workers from the logging company and farmers from Kabo).

DISCUSSION

Summary of results

Overall, respondents had positive attitudes towards elephant conservation. We found evidence that conservation benefits (working in the conservation project, living in Bomassa) positively shaped the attitudes of people in northern Congo, whereas costs (e.g., experiencing HEC) are often associated with less positive attitudes. This dual role of PAs and wildlife nearby has also been shown in various other studies, but here, we additionally show how that might vary between villages. While the costs of wildlife often outweigh the benefits of conservation (Kansky and Knight 2014), it appears that the benefits of the conservation project (particularly in Bomassa) largely outweigh the costs of HEC both at the household and the village level, likely due to the small size of the village. However, that is different in the village Makao, where fewer people receive benefits, and these benefits are anyway less valuable than elsewhere. These villagers are forced to find alternative revenue, for example through farming. The benefits are fewer at the household levels and appear not to outweigh the disadvantage due do conservation (e.g. variable 'experienced HEC') and hence villagers here have more mixed attitudes. At the extreme end are farmers in Kabo and Loundoungou that feel not to benefit from conservation and have costs due to the HEC they have experienced.

Effect of village type and the benefits from the conservation project

Respondents from the conservation villages Bomassa and to some extend Makao were found to have more positive responses to elephants compared to logging camps of Kabo and Loundoungou likely due to the tangible benefits which appear to be vital motivational factors for local people to show positive conservation attitudes as found in other studies (Lewis et al. 1990; Gillingham and Lee 1999; Holmes 2003; Gadd 2005; Allendorf et al. 2006; Guerbois et al. 2013). Thus in a small village like Bomassa it appears that integrated conservation and development can be successful. Local support in the conservation villages is further enhanced through decades of environmental education and community outreach programmes that has helped to raise people's knowledge and to foster support wildlife and NNNP (Breuer and Mavinga 2010) as seen elsewhere (Newmark et al. 1993; Hill 1998; Holmes 2003) as seen likewise, respondents from Bomassa had a much better idea about the conservation players and wanted to have even more information on elephant conservation. Interestingly people in Bomassa were more afraid of elephants compared to the other villages, probably due to more regular dangerous encounters with elephants.

Effect of employment

People employed in the conservation project replied much more positively likely due to the direct benefits such as salaries, as has been demonstrated previously (Infield 1988; Riddell 2005; Fairet 2012; Snyman 2014). Simultaneously, people in the other employment categories were less positive about elephants potentially due to the perceived lack of benefits gained from their conservation. While conservation is stated as a major objective within the FSC certified logging concession, it appears that the benefits due to logging activities are not perceived as indirect benefits of conservation (e.g., sustainable exploitation and job guarantee) and likely due to that there is less tolerance of elephants. Some local people also had limited and often inaccurate knowledge of the conservation actors in the area, and believed the PA was created by or for the 'whites', as seen at other sites (Fairet 2012). These 'negative' attitudes might be due to lack of information about the role of each conservation actor. A substantial portion of respondents are not originally from the region and appear to be lacking an understanding of the objectives of conservation

and the particular wide-ranging nature of forest elephants in the landscape. Immigrants (non-residents) have been found to show more negative attitudes and often change traditional values of locals which can ultimately lead to more conflicts about natural resource use and conservation in general (Noss 1997; Guerbois et al. 2013).

As the Congolese law prevents killing of elephants, locals might feel powerless and can show resentment towards elephant conservation, thus their statements might be a form of deep-seated resistance and the lack of participation in resource use decision-making (Parry and Campbell 1992; Gillingham and Lee 1999; Riddell 2005).

Effect of HEC experience

The experience of HEC often negatively impacted respondents attitudes, notably those questions related to tolerance to elephants. This is not surprising, as the strongest local complaints (and likely high costs) were usually about crop-raiding elephants as found elsewhere (Parry & Campbell 1992; De Boer and Baquete 1998; Naughton et al. 1999; Riddell 2005; Guerbois et al. 2013; Snyman 2014). For few respondents killing of problem elephants was perceived as a viable mitigation strategy, while killing of elephants in the forest (for ivory) is seen as a crime. Negative attitudes due to costly HEC might be particular prominent in the absence of help and lack of compensation from the government who is the owner of the wildlife (Naughton-Treves 1997). These negative attitudes also appeared to increase fear towards elephants and reduce the interest in learning more about and seeing elephants. Similarly, people who have experienced HEC in the past tended to state more often that only conservationists (largely 'white' ex-pats) care about elephants and not the Congolese people and were not opposed to killing problem elephants (near farms), as this was seen as a mitigation strategy under HEC.

Effect of wealth, education, and ethnic group

Overall, we found relatively little evidence of the impact of income, education and ethnic group on the attitudes towards elephants confirming previous findings (Gadd 2005; Snyman 2014). Similarly, a comparative analysis could show that the above mentioned factors are only weak predictors of attitudes (Kansky and Knight 2014). Those with lower incomes working in farming, natural resource use and other occupations had less positive attitudes towards seeing a killed elephant compared with poorer people working in the conservation project, likely because those often worked in the law enforcement sector for the PA.

Contrary to other studies (Gadd 2005; Riddell 2005; Kideghesho et al. 2007), education also had little impact on people's tolerance towards elephants with one exception; more educated people stated that Congolese people do not care about elephants. Whereas, only few people had higher education, it is likely that the statement reflects the general lack of Congolese presence in the conservation sector as most activities are dominated by conservationists (who are not always Congolese) and civil society presence in the area is low. One reason might be seen due to the strong long-term presence of an international conservation NGO and largely absence of local and national conservation approaches, which are likely to have different impacts of people's attitudes.

Ethnic group was also rarely associated with attitude, with the exception of Aka showing less fear and preferred interest to actually see elephants, likely due to their regular contact with elephants in the forest and their different way of viewing the forest (cosmology). However, these views and traditional values are likely getting more disrupted due to transformation of livelihoods through formal employment in the logging and conservation sector (Riddell 2013).

Limits of the quantitative attitude surveys

The use of quantitative questionnaire surveys is helpful in a rapid assessment of resident's views towards a conservation problem. Questionnaires provide large sample size and rigorous statistical analysis (e.g., multivariate analysis) to understand how various variables collectively influence conservation attitudes (Brooks et al. 2013). We reduced the potential caveats of quantitative surveys prior to our data collection by using demographic registers to provide a representative sample; by being familiar in the area (reducing non-responses); through appropriate training for enumerators and free, prior and informed consent guaranteeing the anonymity of the respondent (Browne-Nuñez and Jonker 2008; Drury et al. 2011). We also included qualitative results to expand our questionnaire survey to better understand the complexity of factors underlying conservation attitudes. While these complementary data largely supported the questionnaire results, some interview statements also indicated that response bias might occasionally occur and that the concepts underlying these attitudes are complex. Furthermore, some results obtained in this study open up a number of new questions that can be explored with social science techniques (see below) (St. John et al. 2014).

Bias exists when respondents are unwilling to express negative attitudes, particularly when replying to a member of the conservation project about a sensitive issue (e.g., illegal behaviour) (Solomon et al. 2015; Conteh et al. 2015). Furthermore, it is possible that workers of the conservation project have feared that more 'negative' replies might cause problems for their job engagement (e.g., response bias) (Browne-Nuñez and Jonker 2008)), or provide positive answers to please the interviewer, hence leading to an impression of more positive attitudes. An additional caveat is the lack of clear link between attitudes and behaviour (Kühl et al. 2009; Heberlein 2012) and complementary methods (e.g., Solomon et al. 2007) are needed to whether people are saying the truth in regard to sensitive questions. Additionally given the relatively low level of education, and an education system that largely relies on memorising and repetition (Breuer and Mavinga 2010), respondents statement might not necessarily

Attitudes towards elephant conservation / 71

provide links to attitudes but rather reflect what people might have heard.

REFERENCES

- Adams, W M., and J. Hutton. 2007. People, parks and poverty: political ecology and biodiversity conservation. *Conservation and Soc*iety 5: 147–183.
- Ajzen, I. 2012. Martin Fishbein's legacy: the reasoned action approach. *The* Annals of the American Academy of Political and Social Science 640: 11–27.
- Allendorf, T., K.K. Swe, T. Oo, Y. Htut, M. Aung, K. Allendorf, et al. 2006. Community attitudes toward three protected areas in Upper Myanmar (Burma). *Environmental Conservation* 33: 344–352.
- Anthony, B. 2007. The dual nature of parks: attitudes of neighbouring communities towards Kruger National Park, South Africa. *Environmental Conservation* 34: 236–245.
- Barnes, R.F.W. 1996. The conflict between humans and elephants in the Central African forests. *Mammal Review* 26: 67–80.
- Barnes, R.F.W., E. Danquah, E.M. Hema, U.-F. Dubiure, M. Manford, A. Nandjui, and Y. Boafo. 2015. Retrospective versus prospective designs for studies of crop raiding by elephants. *Pachyderm* 1: 44–50.
- Barton, K. 2015. MuMIn: Multi-model inference. R package version 1.15.1.
- Bennett, N.J. 2016. Using perceptions as evidence to improve conservation and environmental management. *Conservation Biology* 30: 582-592.
- Boafo, Y., U.-F. Dubiure, E.K.A. Danquah, M. Manford, A. Nandjui, E.M. Hema, et al. 2004. Long-term management of crop raiding by elephants around Kakum Conservation Area in southern Ghana. *Pachyderm* 37: 68–72.
- Breuer, T., F. Maisels, and V. Fishlock. 2016. The consequences of poaching and anthropogenic change for forest elephants. *Conservation Biology* 30: 1019-1026.
- Breuer, T., and F.B. Mavinga. 2010. Education for the conservation of great apes and other wildlife in northern Congo--the importance of nature clubs. *American Journal of Primatology* 72: 454–61.
- Brooks, J., K.A. Waylen, and M.B. Mulder. 2013. Assessing communitybased conservation projects: a systematic review and multilevel analysis of attitudinal, behavioral, ecological, and economic outcomes. *Environmental Evidence* 2:2 DOI:10.1186/2047-2382-2-2.
- Browne-Nuñez, C., S.K. Jacobsen, and J.J. Vaske. 2013. Beliefs, attitudes, and intentions for allowing elephants in group ranches around Amboseli National Park, Kenya. *Wildlife Society Bulletin* 37: 639–648.
- Browne-Nuñez, C. and S.A. Jonker. 2008. Attitudes toward wildlife and conservation across Africa: a review of survey research. *Human Dimensions of Wildlife* 13: 47–70.
- Burnham, K.P., D.R. Anderson, and K.P. Huyvaert. 2011. AIC model selection and multimodel inference in behavioral ecology: some background, observations, and comparisons. *Behavioral Ecology and Sociobiology* 65: 23–35.
- Clark, C.J. and J.R. Poulsen. 2012. Tropical forest conservation and industry partnership: an experience from the Congo Basin. 1st edition. Oxford: Wiley-Blackwell.
- Conteh, A., M.C. Gavin, and J. Solomon. 2015. Quantifying illegal hunting: a novel application of the quantitative randomised response technique. *Biological Conservation* 189: 16-23
- De Boer, W.F. and D.S. Baquete. 1998. Natural resource use, crop damage and attitudes of rural people in the vicinity of the Maputo Elephant Reserve, Mozambique. *Environmental Conservation* 25: 208–218.
- Dickman, A.J. 2010. Complexities of conflict: the importance of considering social factors for effectively resolving human-wildlife conflict. *Animal Conservation* 13: 458–466.
- Dos Santos, D., and T. Breuer. 2012. Rapport annuel Projet Nouabalé-Ndoki. Bomassa: MEFDD/WCS.
- Drury, R., K. Homewood, and S. Randall. 2011. Less is more: the potential of qualitative approaches in conservation research. *Animal Conservation* 14: 18–24.

CONCLUSION AND MANAGEMENT RECOMMENDATIONS

We have provided evidence about the positive impact of a longterm conservation project on local people's attitudes towards elephant conservation. The study also identified that the lack of benefits and increased costs, such as the experience with HEC, negatively shape attitudes. When people at the household level perceive the benefits of conservation, the costs can be outweigh, so integrated conservation and development in low population villages as seen in Bomassa and to some extend in Makao is possible, but likely too costly for larger settlements. It is clear from our study that Kabo and Loundoungou residents (mostly logging company employees) do not perceive their benefits coming from conservation and the important link between benefits from timber exploitation, and wildlife conservation in the FSC certified forest is often not considered. Similar failure to acknowledge the ecological and economic importance of conservation have been demonstrated elsewhere (Parry and Campbell 1992; Gillingham and Lee 1999; Gadd 2005). Furthermore our findings demonstrate the need more clearly to explain the role of the various conservation actors (Homewood 2013), particularly due to the presence of an international NGO, and largely absence of local and national initiatives. Regular contact between the wildlife staff and local communities can further improve support (Holmes 2003) and further engagement of people in the decisionmaking of wildlife issues is likely to improve attitudes of residents around NNNP (Riddell 2005). Future surveys should include duration of residency as an explanatory variable (Infield and Namara 2001) as well as measures of household wealth related to owned assets and services (Schreckenberg et al. 2010) as well as including more qualitative statements to understand the full dimensions of these negative attitudes; for example: Who are these well-educated logging employees, what is their world view, and what would it take to work with them as conservation allies? Lastly, it is evident that HEC can compromise the long-term conservation efforts of NNNP and its surrounding certified logging concessions and that a strategy of land use planning and measures of mitigation is urgently needed including all stakeholders (Breuer et al. 2016).

ACKNOWLEDGEMENTS

We thank the Ministry of Scientific Research, the Ministry of Forest Economy and Sustainable Development and the Wildlife Conservation Society for authorisation to work around Nouabalé-Ndoki National Park. We are grateful to all local people for their hospitality and willingness to participate in the survey. Franck Mavinga, Parfait Bakabana, Aymar Bounda and Fredant Selat helped with data collection. Financial support was provided by PACEBCo, CARPE-USAID and WCS. We thank Michael Riddell and two reviewers for helpful comments on an earlier draft of the manuscript.

- Edwards, D.P., S. Sloan, L. Weng, P. Dirks, J. Sayer, and W.F. Laurance. 2014. Mining and the African environment. *Conservation Letters* 7: 302–311.
- Elkan, P.W., S.W. Elkan, A. Moukassa, R. Malonga, M. Ngangoué, and J.L.D. Smith. 2006. Managing threats from bushmeat hunting in a timber concession in the Republic of Congo. In: *Emerging threats to tropical forests* (eds. Peres, C. and W. Laurence). Pp. 395–415. Chicago, IL: University of Chicago Press.
- Eves, H.E. 1995. Pilot study investigation of socioeconomics of natural resource utilization in the Kabo logging concession northern Congo. Bomassa: WCS.
- Eves, H.E., and R.G. Ruggiero. 2000. Socio-economics and the sustainability of hunting in the forests of northern Congo (Brazzaville). In: *Hunting for sustainability in tropical forests* (eds. Robinson, J.G. and E.J. Bennett). Pp. 427–454. New York, NY: Colombia University Press.
- Fairet, E.M.M. 2012. Vulnerability to crop-raiding: an interdisciplinary investigation in Loango National Park. Ph.D. thesis. Durham University, Durham, UK.
- Fiallo, E.A., and S.K. Jacobson. 1995. Local communities and protected areas: attitudes of rural residents towards conservation and Machalilla National Park, Ecuador. *Environmental Conservation* 22: 241–249.
- Fishbein, M., and I. Ajzen. 2010. Predicting and changing behavior: the reasoned action approach. New York, NY: Psychology Press.
- Gadd, M. 2005. Conservation outside of parks: attitudes of local people in Laikipia, Kenya. *Environmental Conservation* 32: 50–63.
- Gillingham, S., and P.C. Lee. 1999. The impact of wildlife-related benefits on the conservation attitudes of local people around the Selous Game Reserve, Tanzania. *Environmental Conservation* 26: 218–228.
- Guerbois, C., A.B. Dufour, G. Mtare, and H. Fritz. 2013. Insights for integrated conservation from attitudes of people toward protected areas near Hwange National Park, Zimbabwe. *Conservation Biology* 27: 844–855.
- Gunn, J., D. Hawkins, R.F.W. Barnes, F. Mofulu, R.A. Grant, and G.W. Norton. 2014. The influence of lunar cycles on crop-raiding elephants; evidence for risk avoidance. *African Journal of Ecology* 52: 129–137.
- Hackel, J.D. 1999. Community conservation and the future of Africa's wildlife. Conservation Biology 13: 726–734.
- Hartter, J., and A. Goldman. 2011. Local responses to a forest park in western Uganda: alternate narratives on fortress conservation. *Oryx* 45: 60–68.
- Hartter, J., A. Goldman, and J. Southworth. 2011. Responses by households to resource scarcity and human-wildlife conflict: issues of fortress conservation and the surrounding agricultural landscape. *Journal for Nature Conservation* 19: 79–86.
- Hartter, J., J. Solomon, S.J. Ryan, S.K. Jacobsen, and A. Goldman. 2014. Contrasting perceptions of ecosystem services of an African forest park. *Environmental Conservation* 41: 330–340.
- Hatchwell, M. 2014. Public-private partnerships as a management option for protected areas. *Animal Conservation* 17: 3–4.
- Heberlein, T.A. 2012. Navigating environmental attitudes. Conservation Biology 26: 583–585.
- Heinen, J.T. 1996. Human behavior, incentives, and protected area management. *Conservation Biology* 10: 681–684.
- Hill, C.M. 1998. Conflicting attitudes towards elephants around the Budongo Forest Reserve, Uganda. *Environmental Conservation* 25: 244–250.
- Hill, C.M. 2004. Farmers' perspectives of conflict at the wildlife–agriculture boundary: some lessons learned from African subsistence farmers. *Human Dimensions of Wildlife* 9: 279–286.
- Hoare, R. 2012. Lessons from 15 years of human elephant conflict mitigation: management considerations involving biological, physical and governance issues in Africa. *Pachyderm* 51: 60–74.
- Hoare, R. 2015. Lessons from 20 years of human–elephant conflict mitigation in Africa. *Human Dimensions of Wildlife* 20: 289–295.
- Holmes, C. M. 2003. The influence of protected area outreach on conservation attitudes and resource use patterns: a case study from western Tanzania. *Oryx* 37: 305–315.

- Homewood, K. 2013. Monitoring and evaluating the socioeconomic impacts of conservation projects on local communities. In: *Biodiversity monitoring and conservation: bridging the gap between global commitment and local action* (eds. Collen, B, N. Pettorelli, J.E.M. Baillie, and S.M. Durant). Pp. 265–290. Oxford: Wiley-Blackwell.
- Infield, M. 1988. Attitudes of a rural community towards conservation and a local conservation area in Natal, South Africa. *Biological Conservation* 45: 21–46.
- Infield, M., and A. Namara. 2001. Community attitudes, and behaviour towards conservation: An assessment of a community conservation programme around Lake Mburo, National Park, Uganda. *Oryx* 35: 48–60.
- Kansky, R., and A.T. Knight. 2014. Key factors driving attitudes towards large mammals in conflict with humans. *Biological Conservation* 179: 93–105.
- Kideghesho, J.R., E. Røskaft, and B.P. Kaltenborn. 2007. Factors influencing conservation attitudes of local people in Western Serengeti Corridor. *Biodiversity and Conservation* 16: 2213–2230.
- Kleinschroth, F., S. Gourlet-Fleury, P. Sist, F. Mortier, and J.R. Healey. 2015. Legacy of logging roads in the Congo Basin: How persistent are the scars in forest cover? *Ecosphere* 6: art64.
- Kühl, A., N. Balinova, E. Bykova, Y.N. Arylov, A. Esipov, A.A. Lushchekina, and E.J. Milner-Gulland. 2009. The role of saiga poaching in rural communities: Linkages between attitudes, socio-economic circumstances and behaviour. *Biological Conservation* 142: 1442–1449.
- Laporte, N.T., J.A. Stabach, R. Grosch, T.S. Lin, and S.J. Goetz. 2007. Expansion of industrial logging in Central Africa. Science 316: 1451.
- Laurance, W.F., C.D. Useche, J. Rendeiro, M. Kalka, C.J.A. Bradshaw, S.P. Sloan, et al. 2012. Averting biodiversity collapse in tropical forest protected areas. *Nature* 489: 290–294.
- Laurance, W.F., and C.A. Peres. 2006. *Emerging threats to tropical forests*. 1st edition. Chicago, IL: The University of Chicago Press.
- Laurance, W.F., S. Sloan, L. Weng, and J.A. Sayer. 2015. Estimating the environmental costs of Africa's massive "Development Corridors." *Current Biology* 25: 3202–3208.
- Lee, P.C., and M.D. Graham. 2006. African elephants and human elephant interactions: implications for conservation. *International Zoo Yearbook* 40: 9–19.
- Lewis, D., G.B. Kaweche, and A. Mwenya. 1990. Wildlife conservation outside protected areas-lessons from an experiment in Zambia. *Conservation Biology* 4: 171–180.
- Madzou, Y. 1999. Situation conflictuelle des éléphants à Bomassa: un défi pour la gestion de la zone périphérique du Parc National Nouabalé-Ndoki, Nord Congo. Bomassa: WCS.
- Maisels, F., T. Nishihara, S. Strindberg, P. Boudjan, T. Breuer, P. Aczel. et al. 2012. Great ape and human impact monitoring training, surveys, and protection in the Ndoki-Likouala Landscape. Bomassa: WCS.
- Maisels, F., S. Strindberg, S. Blake, G. Wittemyer, J. Hart, E.A. Williamson et al. 2013. Devastating decline of forest elephants in central Africa. *PloS ONE* 8: e59469.
- Naughton, J., R. Rose, and A. Treves. 1999. The social dimensions of humanelephant conflict in Africa: a literature review and case studies from Uganda and Cameroon. Glands: IUCN.
- Naughton-Treves, L. 1997. Farming the forest edge: vulnerable places and people around Kibale National Park, Uganda. *Geographical Review* 87: 27–46.
- Naughton-Treves, L. 2001. Farmers, wildlife and the forest fringe. In: African rain forest ecology and conservation (eds. Weber, W., L.J.T. White, A. Vedder, and L. Naughton-Treves). Pp. 369–384. Yale, CT: Yale University Press.
- Naughton-Treves, L., and A. Treves. 2005. Socio-ecological factors shaping local support for wildlife: crop-raiding by elephants and other wildlife in Africa. In: *People and wildlife: conflict or coexistence?* (eds. Woodroffe, R., S. Thirgood, and A. Rabinowitz). Pp. 252–277. Cambridge: Cambridge University Press.

Attitudes towards elephant conservation / 73

- Nchanji, A.C. and D.P. Lawson. 1998. A survey of elephant crop damage around the Banyang-Mbo wildlife sanctuary, 1993-1996. Yaounde: Cameroon Biodiversity Project and WCS.
- Newmark, W.D., N.L. Leonard, H.I. Sariko, and D.-G.M. Gamassa. 1993. Conservation attitudes of local people living adjacent to five protected areas in Tanzania. *Biological Conservation* 63: 177–183.
- Noss, A.J. 1997. Challenges to nature conservation with community development in central African forests. *Oryx* 31: 180–188.
- Ongognongo, B., D.B. Ekoutouba, and E.J. Stokes. 2006. Conflit hommeéléphant dans la périphérie du Parc National de Nouabalé-Ndoki au nord Congo: evaluation des méthodes de lutte contre la dévastation des champs de manioc par les éléphants dans le village de Bomassa. Bomassa: WCS.
- Parker, G.E., F.V. Osborn, R.E. Hoare, and L.S. Niskanen. 2007. Humanelephant conflict mitigation: a training course for community-based approaches in Africa - participant's manual. Assessment. Livingstone and Nairboi: Elephant Pepper Development Trust and IUCN/SSC AfESG.
- Parry, D., and B. Campbell. 1992. Attitudes of rural communities to animal wildlife and its utilization in Chobe enclave and Mababe depression, Botswana. *Environmental Conservation* 19: 245–252.
- Poulsen, J.R., C.J. Clark, G. Mavah, and P.W. Elkan. 2009. Bushmeat supply and consumption in a tropical logging concession in northern Congo. *Conservation Biology* 23: 1597–1608.
- R Development Core Team. 2014. R: A Language and Environment for Statistical Computing. Available from http://www.r-project.org. Accessed on April 1, 2016.
- Riddell, M. 2005. Community attitudes in Makao-Linganga village, east of Nouabalé-Ndoki National Park: Implications for conservation management in northern Republic of Congo. MSc. thesis. University of Oxford, Oxford, UK.
- Riddell, M. 2013. Assessing the impacts of conservation and commercial forestry on livelihoods in northern Republic of Congo. *Conservation* and Society 11: 199–217.
- Ruggiero, R.G. 1998. The Nouabale-Ndoki Project: development of a practical conservation model in Central Africa. In: *Resource use in the Trinational Sangha River region of Equatorial Africa: histories, knowledge forms, and institutions* (eds. Eves, H.R. and S.H. Rupp). 1st edition. Pp. 176–188. New Haven, CT: Yale University Press.
- Schreckenberg, K., I. Camargo, K. Withnall, C. Corrigan, P. Franks, D. Roe, L.M. Scherl, and V. Richardson. 2010. Social assessment of conservation initiatives: a review of rapid methodologies. London: IIED.
- Shibia, M.G. 2010. Determinants of attitudes and perceptions on resource use and management of Marsabit National Reserve, Kenya. *Journal of Human Ecology* 30: 55–62.
- Sitati, N.W., M.J. Walpole, and N. Leader-Williams. 2005. Factors affecting susceptibility of farms to crop raiding by African elephants: using a predictive model to mitigate conflict. *Journal of Applied Ecology* 42: 1175–1182.
- Snyman, S. 2014. Assessment of the main factors impacting community members' attitudes towards tourism and protected areas in six southern African countries. *Koedoe* 56(2): DOI:10.4102/koedoe.v56i2.1139.
- Sodhi, N.S., T.M. Lee, C.H. Sekercioglu, E.L. Webb, D.M. Prawiradilaga, D.J. Lohman, N.E. Pierce et al. 2010. Local people value environmental

services provided by forested parks. *Biodiversity and Conservation* 19: 1175–1188.

- Solomon, J., S.K. Jacobson, K.D. Wald, and M. Gavin. 2007. Estimating illegal resource use at a Ugandan park with the randomized response technique. *Human Dimensions of Wildlife* 12: 75–88.
- Solomon, J.N., M.C. Gavin, and M.L. Gore. 2015. Detecting and understanding non-compliance with conservation rules. *Biological Conservation* 189: 1-4.
- St. John, F.A.V., A.M. Keane, and E.J. Milner-Gulland. 2013. Effective conservation depends upon understanding human behaviour. In: *Key topics in Conservation Biology 2* (eds. Macdonald, D.W. and K.J. Willis). 1st edition. Pp. 344–361. Oxford: Wiley-Blackwell.
- St. John, F.A.V, G. Edwards-Jones, and J.P.G. Jones. 2010. Conservation and human behaviour: lessons from social psychology. *Wildlife Research* 37: 658–667.
- St. John, F.A.V, A.M. Keane, J.P.G. Jones, and E.J. Milner-Gulland. 2014. Robust study design is as important on the social as it is on the ecological side of applied ecological research. *Journal of Applied Ecology* 51: 1479–1485.
- Stokes, E.J., S. Strindberg, P.C. Bakabana, P.W. Elkan, F.C. Iyenguet, B. Madzoké et al. 2010. Monitoring great ape and elephant abundance at large spatial scales: measuring effectiveness of a conservation landscape. *PLoS* ONE 5: e10294.
- Tchamba, M.N. 1995. The problem elephants of Kaele: a challenge for elephant conservation in northern Cameroon. *Pachyderm* 19: 26–32.
- Terborgh, J., C.P. van Schaik, L. Davenport, and M. Rao. 2002. Making parks work: strategies for preserving tropical nature. 1st edition. New York, NY: Island Press, New York.
- Tranquilli, S., M. Abedi-Lartey, K. Abernethy, F. Amsini, A. Asamoah, C. Balangtaa et al. 2014. Protected areas in tropical Africa: assessing threats and conservation activities. *PloS* ONE 9: e114154.
- Treves, A., R.B. Wallace, L. Naughton-Treves, and A. Morales. 2006. Comanaging human–wildlife conflicts: a review. *Human Dimensions of Wildlife* 11: 383–396.
- Walker, K.L. 2012. Labor costs and crop protection from wildlife predation: the case of elephants in Gabon. *Agricultural Economics* 43: 61–73.
- Webber, A.D., C.M. Hill, and V. Reynolds. 2007. Assessing the failure of a community-based human-wildlife conflict mitigation project in Budongo Forest Reserve, Uganda. *Oryx* 41(2): 177-184
- West, P., J. Igoe, and D. Brockington. 2006. Parks and peoples: the social impact of protected areas. *Annual Review of Anthropology* 35: 251–277.
- Wich, S.A., J. Garcia-Ulloa, H.S. Kühl, T. Humle, J.S.H. Lee, and L.P. Koh. 2014. Will oil palm's homecoming spell doom for Africa's great apes? *Current Biology* 24: 1659–1663.
- Woodroffe, R., and J.R. Ginsberg. 1998. Edge effects and the extinction of populations inside protected areas. *Science* 280: 2126–2128.
- Woodroffe, R., S. Thirgood, and A. Rabinowitz. 2005. People and wildlife: conflict and coexistence. 1st edition. Cambridge: Cambridge University Press.
- Yackulic, C.B., S. Strindberg, F. Maisels, and S. Blake. 2011. The spatial structure of hunter access determines the local abundance of forest elephants (Loxodonta africana cyclotis). *Ecological Applications* 21: 1296–1307.

Received: August 2015; Accepted: September 2016